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B, Sc. (Sixth Semester) ExaminatioDs 2018
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COMPUTER sCIENCE
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Nate : Attempt questions of all three sections as directed, 3 §
Distribution of marks is given with sections. g g
s ¥’
Section-‘A’
(m)
(s we) 15x1=15

(Objective Type Questions)

A ;Wi V& I I 0 1 s 3

Note : Attempt all of the fﬂﬂﬂ“"'ﬂg questions, Each

question carries | mark,

CS-247

(2]
Dmﬂwﬂﬂth

Wha is the foll-form af DBA?

Frdefer 1 % FRW DD i ¢,

which of the following is/are the DL suh:mcnt-'?
(x) Create

{b) Drop

(c) Aber
(&) All of the above

w3 & 'm e Twm w1 wina fea v
t—

How many tables may be included with a join?
(a) 1

&) 2
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(v)

|31
(c) 3

(d) All of the abow

(a) Scalar datatype
(b) Composite datatype

(¢) Both (3) and (b)
(d) None of these

frefefies 4 @ W PUSQLT TE T ¢?
Which of the following is no! valid in PL/SQL?
() Sclect .......... inlo

(b) Update

(c) Create

(d) Delete

PL/SQL &% & fen @E ¥ Emor Trapping ¥
e e t—  http://www rdvvonline.com

Functions for error trapping are conlained in which
section of a PL/SQL block?

- FTO
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(a) Header
(b) Declarative
(c) Executable
(d) Exception

(vi)) sqQL ¥ wr = o g3 g
What is stored procedure in SOL?
(a) Block of funclions
(b) Group of Transacy

(c) Group of distinct SQL statement
(d) None of these

(vi) sl R TRi deim # wn doetn W E-

In database where is the temporary stored

procedure is store?
(a) Master
(b) Model

(c) Tempdb
(d) None of these

cs-u7
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um wt & o fear g £

............ arc used 1o pas value
boing called !

o the procedure

{a) Oracle

(b) Object

(c) Paramciers
{d) None of these

(x) Equal Interval % foag wir-wr s 8—
Which method is used for cqual interval?
(8) Newton forward
(b) Newton Raphson
(¢} Newton divided

(d) language interpolation

(xi) wrpdrwm fafig ¥ Convergence w1 #—

What is convergence in bisection method?
(2) Lincar

(b} Quadratic

Cs-41
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(i)

(¢) Ve fas
(d) Yery sh¥

Newgon Raphson RN T Order of Comvergence

wn v b

What s the neder of convergence in Newton
R aphsoe method?

(a) 0

(b) J

(¢) 2
@ |

(xiii) Jacobis fafu w1 Fgendl ¥—

(xiv) Trapesndal M1 Simpaon's Rules ;E:.q-iq.q h

Jacobi's method called as
(a) Dusplacement method
(b) Simultancous method

(¢} Simulancous displacement mcthod

(d) Naue of these

feru
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Which is used ft' B2 luation n T"‘tm and {ﬂmﬂ m) . 5.4.1ﬂ
Simpson's Rules? (short AmSE Type Questions)
(2) Double Inteprg, Pr . g o A & TN fore s 95w 1 @ o o

g o &1 N w1 4 S @

Note : Juempt oll five questions, One question frum
coch wnil is compulsary. Each question carries

(b) Dilferontiation

(c) Mulliple Integrag,
(d) Divided difTeren;

(av) Alogz # w1 -~

Value of Alogx:
2. DBA & &7

(a) log(1-4/x) What is DBA?
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[ and
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(b) hog(1+A/x) | Had
Or

(c) log A/x Joins &1 BRI !

(d) Noac of these Explain Joins?

L ca) S

Uait-11

Cs-47
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3. wihow B2 wF Al @ e
What is Cursor? &pthdiﬂumt types?
|
¥

Pr

|
PL/SQL Exccution Envimgment #) et
Explain PL/SQL Exccutiog Eqvironment.

wg-1n
Unit-111

4. mﬂmmmmml

Explain the functions and write its sdvantages?
T
" Or

Stored Procedure ) WRRRY )

Explain Stored Procedure,

=§-1v
Unit-1V

5. 3k ¥ yen s

Explain the types of Errors

CS7
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%
Or

Gauss-Jordan i H HiFmy
Explain Gauss-Jordan methogdy

LA Y

Uait.y

. Divide difference table Y Yange, =@

r=-3-2,-1,0,2

fs)=+
Find the divided difference for the.

x==3-2-1,0,2

f(x)=4
Haar
Or
Simpson 173 Rules %) gu@sei

Explain Sumpson 173 Rule?
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(3nd Toty o)
{Long Answer Tipe Questions)
?}? J WWW‘#* w0 ot r“'-f " F

X T WA §y s wrr W sl ki

5«10-50C

Nute ; Altempt all Jive quesnons One i Jrum

coch wnit i compulsgry  Eoxch e i CuTICS

10 marks.

Le 31
Unit-1
1. VR w1 = @) sanm wea wuaT
Explain Integrity constraint with example.
Ao
Or
HUFA FFA F) faram § wswg
Explain oracle functivn in detail.

& rf-1l
Unit-1

8. Object Privileges W Grant Option & .M WHHRY)
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Explain object privileges wilk Grant Option.

Ry
Or
PL/SQL W Error Handling #) we@e!
Explain Error Handling in ML/SQL?

yar§-11
Uait-111

9. 3MFa Ui B ¥} ErRE @ 47 IWE wiEa

W@ http://www.rdvvonline.com

llow oracle exccutes procedurc? Explain with example.,
o
Or

Stored function ¥R ¥ d fadte v & I # fafau)
Write the steps of creating and deleting stored funclions,
V-1V
Unit-1V
10. 1.U Decomposition fafu g0 &1 %1)
Ir, +2x,+x=10
2 +3x,+215,7 14
ntixnrin=I4
CS-247
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Use LU Dccompusiﬁmkmod 1o solve the below

Squation. t
It v 22, 42,=10 'r
Iy +3x 20 =y \
fitintiney

N
Or

Newton Raphson fifly gy pry et & root B §
w

x"+51+1¢,0

Using Newlon-Rephson Method to find a root of the
cquation

2 +5x+1=20

wi-v
Usit-V
11. Lagrange’s Interpolation Fomula @ wrafa w0
Derive Lagrange’s Inlerpolation formula?

L all
Or

Csu? PTO
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Trapesoidat Rule ¥ Ty g w1
Write the Trape20idal Rile gng 150 proaf it?
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